CRYPTOQUIP

JP CMKQ MP XMLN HLKMIMCIJTVE

HNV PJTTVS BJKQ KNHEQ, BQHK
WMLTS XML WHTT KQHK?

KBM-WHN OHNCHOV.

Yesterday’s Cryptoquip: WHEN THEY MERGE
THREE WINDY CITY NEWSPAPERS INTO ONE,
THEY SHOULD NAME IT THE CHICAGO TRIUNE.

Today’s Cryptoquip Clue: C equals B

CRYPTOQUIP BOOK 1! Send $6.00 (check/m.o.) to
CryptoClassics Book 1, 628 Virginia Drive, Orlando, FL 32803
The Cryptoquip is a substitution cipher in which one letter stands for
another. If you think that X equals O, it will equal O throughout the puzzle.
Single letters, short words and words using an apostrophe give you clues
to locating vowels. Solution is by trial and error.
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